

## Differential equations associated with Genocchi polynomials

**Seonhee Kim**

*Department of Mathematics,  
Kyungpook National University,  
Daegu, 41566, Republic of Korea.*

**Byung-Moon Kim**

*Department of Mech. System Engineering,  
Dongguk University,  
Gyungju-si, 38066, Republic of Korea.*

**Jongkyum Kwon<sup>1</sup>**

*Department of Mathematics  
Education and RINS,  
Gyeongsang National University,  
Jinju, Gyeongsangnamdo, 52828,  
Republic of Korea.*

### Abstract

Recently, several authors have studied nonlinear differential equations arising from the generating functions of various special functions (see [3, 8–15]). We derive a family of non-linear differential equations from the generating functions of the Genocchi polynomials and study the solutions of these differential equations.

**AMS subject classification:** 05A19, 11B37, 34A30.

**Keywords:** Genocchi polynomials, non-linear differential equation.

---

<sup>1</sup>Corresponding author.

This work(2016-04-013) was supported by the fund for new professor research foundation program, Gyeongsang National University, 2016.

## 1. Introduction

The Euler polynomials are defined by the generating function to be

$$\frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!} \quad (\text{see [4 - 7]}). \quad (1)$$

When  $x = 0$ ,  $E_n = E_n(0)$ , ( $n \geq 0$ ), are called Euler numbers.

The Genocchi polynomials  $G_n(x)$  are defined by generating functions as follows:

$$\frac{2t}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!}, \quad (\text{see [1, 2, 5, 7]}). \quad (2)$$

In the special case  $x = 0$ ,  $G_n(0) = G_n$  for  $n = 0, 1, \dots$  are called the  $n$ -th Genocchi numbers.

For  $r \in \mathbb{N}$ , we consider that the higher order Genocchi polynomials  $G_n^{(r)}(x)$  are defined by generating functions as follows:

$$\left( \frac{2t}{e^t + 1} \right)^r e^{xt} = \sum_{n=0}^{\infty} G_n^{(r)}(x) \frac{t^n}{n!}, \quad (\text{see [1, 2]}). \quad (3)$$

In the special case  $x = 0$ ,  $G_n^{(r)}(0) = G_n^{(r)}$  for  $n = 0, 1, \dots$  are called the higher order  $n$ -th Genocchi numbers.

Recently, T. Kim et al. have studied nonlinear differential equations arising from Bernoulli, Euler, Frobenius-Euler, Changhee, Mittag-Leffer, degenerate Bell,  $\lambda$ -Changhee, degenerate Bernoulli polynomials. (see [3, 8-15]). In this paper, we use the idea recently developed by Kim et al. (see [14]). We derive a family of non-linear differential equations from the generating function of Genocchi polynomials and study the solutions of these differential equations.

## 2. The non-linear differential equations for Genocchi polynomials

Let

$$F = F(t) = \frac{2}{e^t + 1}. \quad (4)$$

From (4), we get

$$F' = F'(t) = \frac{-2e^t}{(e^t + 1)^2} = -F + \frac{1}{2}F^2. \quad (5)$$

It is arranged as following.

$$\frac{1}{2}F^2 = F + F'. \quad (6)$$

Let us take derivative in (6) with respect to  $t$ . Then we obtain

$$\frac{1}{2}2!F F' = F' + F'' \tag{7}$$

From (5) and (7), we can derive the following equation.

$$\frac{1}{2^2}2!F^3 = 2F + 3F' + F'' \tag{8}$$

and furthermore

$$\frac{1}{2^3}3!F^4 = 6F + 11F' + 6F'' + F^{(3)}, \tag{9}$$

$$\frac{1}{2^4}4!F^5 = 24F + 50F' + 35F'' + 10F^{(3)} + F^{(4)}. \tag{10}$$

Continuing this process, we set

$$\frac{1}{2^N}N!F^{N+1} = \sum_{k=0}^N \alpha_k^{(N)} F^{(k)}, \quad N = 1, 2, \dots, \tag{11}$$

where  $\left(\frac{d}{dt}\right)^k F(t) = F^{(k)}$ .

Let us take derivative in (11) with respect to  $t$ . From (5) and (11), we obtain

$$\frac{1}{2^N}(N + 1)!F^N \left(-F + \frac{1}{2}F^2\right) = \sum_{k=0}^N \alpha_k^{(N)} F^{(k+1)}$$

so that

$$\frac{1}{2^{N+1}}(N + 1)!F^{N+2} = \sum_{k=0}^N \alpha_k^{(N)} F^{(k+1)} + (N + 1) \sum_{k=0}^N \alpha_k^{(N)} F^{(k)}. \tag{12}$$

On the other hand, by replacing  $N$  by  $N + 1$  in (11), we have

$$\frac{1}{2^{N+1}}(N + 1)!F^{N+2} = \sum_{k=0}^{N+1} \alpha_k^{(N+1)} F^{(k)} \tag{13}$$

so that, by (12) and (13), we get the followings.

$$\begin{aligned} \alpha_0^{(N+1)} &= (N + 1)\alpha_0^{(N)}, \\ \alpha_{N+1}^{(N+1)} &= \alpha_N^{(N)} \end{aligned} \tag{14}$$

and for  $k = 1, 2, \dots, N$ ,

$$\alpha_k^{(N+1)} = (N + 1)\alpha_k^{(N)} + \alpha_{k-1}^{(N)}. \tag{15}$$

We see  $\alpha_0^{(1)} = \alpha_1^{(1)} = 1$  from (6), so that, from (14) we have the followings.

$$\begin{aligned} \alpha_0^{(N+1)} &= (N + 1)\alpha_0^{(N)} = (N + 1)N\alpha_0^{(N-1)} \\ &= \dots = (N + 1) \dots 2\alpha_0^{(2)} = (N + 1)!, \\ \alpha_{N+1}^{(N+1)} &= \alpha_N^{(N)} = \dots = \alpha_1^{(1)} = 1 \end{aligned} \tag{16}$$

For  $k = 1, 2, \dots, N$ , we get from (15),

$$\begin{aligned} \alpha_k^{(N+1)} &= (N + 1)\alpha_k^{(N)} + \alpha_{k-1}^{(N)} \\ &= (N + 1)(N\alpha_k^{(N-1)} + \alpha_{k-1}^{(N-1)}) + \alpha_{k-1}^{(N)} \\ &= (N + 1)^{<2>} \alpha_k^{(N-1)} + (N + 1)\alpha_{k-1}^{(N-1)} + \alpha_{k-1}^{(N)} \\ &= (N + 1)^{<3>} \alpha_k^{(N-2)} + (N + 1)^{<2>} \alpha_{k-1}^{(N-2)} + (N + 1)\alpha_{k-1}^{(N-1)} \\ &\quad + \alpha_{k-1}^{(N)} \\ &= \dots \\ &= (N + 1)^{<N+1-k>} \alpha_k^{(k)} + \sum_{n_1=k}^N (N + 1)^{<N-n_1>} \alpha_{k-1}^{(n_1)} \\ &= \sum_{n_1=k-1}^N (N + 1)^{<N-n_1>} \alpha_{k-1}^{(n_1)} \end{aligned} \tag{17}$$

where  $N^{<i>} = N(N - 1) \dots (N - i + 1)$ .

Continuing the work,

$$\begin{aligned} \alpha_k^{(N+1)} &= \sum_{n_1=k-1}^N (N + 1)^{<N-n_1>} \sum_{n_2=k-2}^{n_1-1} n_1^{<n_1-1-n_2>} \alpha_{k-2}^{(n_2)} \\ &= \dots \\ &= \sum_{n_1=k-1}^N \sum_{n_2=k-2}^{n_1-1} \dots \sum_{n_m=k-m}^{n_{m-1}-1} (N + 1)^{<N-n_1>} n_1^{<n_1-1-n_2>} \dots \\ &\quad \times n_{m-1}^{<n_{m-1}-1-n_m>} \alpha_{k-m}^{(n_m)} \\ &= \dots \\ &= \sum_{n_1=k-1}^N \sum_{n_2=k-2}^{n_1-1} \dots \sum_{n_k=0}^{n_{k-1}-1} (N + 1)^{<N-n_1>} n_1^{<n_1-1-n_2>} \dots \\ &\quad \times n_{k-1}^{<n_{k-1}-n_k>} \alpha_0^{(n_k)} \end{aligned}$$

so that it gives

$$\begin{aligned}
 \alpha_k^{(N+1)} &= \sum_{n_1=k-1}^N (N+1)^{\langle N-n_1 \rangle} \sum_{n_2=k-2}^{n_1-1} n_1^{\langle n_1-1-n_2 \rangle} \times \\
 &\quad \cdots \times \sum_{n_k=0}^{n_{k-1}-1} n_{k-1}^{\langle n_{k-1}-n_k \rangle} n_k^{\langle n_k \rangle} \\
 &= \left( \prod_{m=1}^k \sum_{n_m=k-m}^{n_{m-1}-1} n_{m-1}^{\langle n_{m-1}-1-n_m \rangle} \right) (n_k)!
 \end{aligned} \tag{18}$$

where  $n_0 = N + 1$ .

Therefore, we obtain the following theorem.

**Theorem 2.1.** Let  $F^{(k)}(t) = \frac{d^k F(t)}{dt^k}$  and  $F^N(t) = \underbrace{F(t) \times \cdots \times F(t)}_{N\text{-times}}$ . For  $N = 2, 3, \dots$ , the following non-linear differential equation with respect to  $t$ :

$$\frac{1}{2^N} N! F^{N+1} = \sum_{k=0}^N \alpha_k^{(N)} F^{(k)} \tag{19}$$

has a solution  $F = F(t) = \frac{2t}{e^t + 1}$ . Where,

$$\begin{aligned}
 \alpha_k^{(N+1)} &= \sum_{n_1=k-1}^N (N+1)^{\langle N-n_1 \rangle} \sum_{n_2=k-2}^{n_1-1} n_1^{\langle n_1-1-n_2 \rangle} \times \\
 &\quad \cdots \times \sum_{n_k=0}^{n_{k-1}-1} n_{k-1}^{\langle n_{k-1}-n_k \rangle} n_k^{\langle n_k \rangle} \\
 &= \left( \prod_{m=1}^k \sum_{n_m=k-m}^{n_{m-1}-1} n_{m-1}^{\langle n_{m-1}-1-n_m \rangle} \right) (n_k)!,
 \end{aligned} \tag{20}$$

where  $n_0 = N + 1$ .

It is not difficult to show that

$$\begin{aligned}
 F^{(k)} &= \left(\frac{d}{dt}\right)^k F(t) = \left(\frac{d}{dt}\right)^k \left(\frac{1}{t} \cdot \frac{2t}{e^t + 1}\right) \\
 &= \left(\frac{d}{dt}\right)^k \left(\frac{1}{t} \sum_{n=0}^{\infty} G_n \frac{t^n}{n!}\right) = \left(\frac{d}{dt}\right)^k \left(\frac{1}{t} + \sum_{n=1}^{\infty} G_n \frac{t^{n-1}}{n!}\right) \\
 &= \left(\frac{d}{dt}\right)^k \left(\frac{1}{t} + \sum_{n=0}^{\infty} \frac{G_{n+1}}{n+1} \cdot \frac{t^n}{n!}\right) \\
 &= (-1)^k k! t^{-k-1} + \sum_{n=0}^{\infty} \frac{G_{n+k+1}}{n+k+1} \cdot \frac{t^n}{n!}.
 \end{aligned} \tag{21}$$

From (21), we get

$$\begin{aligned}
 t^{N+1} \sum_{k=0}^N \alpha_k^{(N)} F^{(k)} &= \sum_{k=0}^N \alpha_k^{(N)} (-1)^k k! t^{N-k} \\
 &\quad + \sum_{k=0}^N \sum_{n=0}^{\infty} \alpha_k^{(N)} \frac{G_{n+k+1}}{n+k+1} \cdot \frac{t^{N+1+n}}{n!} \\
 &= \sum_{n=0}^N \left(\alpha_{N-n}^{(N)} (-1)^{N-n} (N-n)! n!\right) \frac{t^n}{n!} \\
 &\quad + \sum_{n=N+1}^{\infty} \left(\sum_{k=0}^N \alpha_k^{(N)} n^{<N+1>} \frac{G_{n-N+k}}{n-N+k}\right) \frac{t^n}{n!}.
 \end{aligned} \tag{22}$$

On the other hand,

$$\begin{aligned}
 t^{N+1} \frac{1}{2^N} N! F^{N+1} &= \frac{1}{2^N} N! \left(\frac{2t}{e^t + 1}\right)^{N+1} \\
 &= \frac{1}{2^N} N! \sum_{n=0}^{\infty} G_n^{(N+1)} \frac{t^n}{n!}.
 \end{aligned} \tag{23}$$

Therefore, by Theorem 2.1, (22) and (23), we obtain the following.

**Theorem 2.2.** For  $n \in \mathbb{N} \cup \{0\}$  and  $N \in \mathbb{N}$ , we have the followings.

For  $n \geq N + 1$ ,

$$G_n^{(N+1)} = \sum_{k=0}^N 2^N \alpha_k^{(N)} (N+1) \binom{n}{N+1} \frac{G_{n-N+k}}{n-N+k},$$

for  $0 \leq n \leq N$ ,

$$G_n^{(N+1)} = 2^N \alpha_{N-n}^{(N)} (-1)^{N-n} \frac{1}{\binom{N}{n}}.$$

## References

- [1] S. Araci, E. Sen, M. Acikgoz, *Theorems on Genocchi polynomials of higher order arising from Genocchi basis*, Taiwanese J. Math., **18** (2014), no. 2, 473–482.
- [2] I. N. Cangul, V. Kurt, H. Ozden, Y. Simsek, *On the higher order  $w - q$ -Genocchi numbers*, Adv. Stud. Contemp. Math., **19** (2009), no. 1, 39–57.
- [3] D.S. Kim, T. Kim, *Some identities for Bernoulli numbers of the second kind arising from a nonlinear differential equation*, Bull. Korean Math. Soc., **52** (2015), 2001–2010.
- [4] D. S. Kim, T. Kim, Y. H. Kim, D. V. Dolgy, *A note on Eulerian polynomials associated with Bernoulli and Euler numbers and polynomials*, Adv. Stud. Contemp. Math. **22**(2012), no. 3, 379–389.
- [5] T. Kim, *On the  $q$ -extension of Euler and Genocchi numbers*, J. Math. Anal. Appl., **326** (2007), 1458–1465.
- [6] T. Kim, *Symmetry  $p$ -adic invariant integral on  $\mathbb{Z}_p$  for Bernoulli and Euler polynomials*, J. Diff. Equ. Appl., **14**(2008), 1267–1277.
- [7] T. Kim, *Some identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials*, Adv. Stud. Contemp. Math., **20** (2010), no. 1, 23–28.
- [8] T. Kim, *Identities involving Frobenius-Euler polynomials arising from non-linear differential equations*, J. Number Theory, **132** (2012) no. 12, 2854–2865.
- [9] T. Kim, D.V. Dolgy, D.S. Kim, J.J. Seo, *Differential equations for Changhee polynomials and their applications*, J. Nonlinear Sci. Appl., **9** (2016), 2857–2864.
- [10] T. Kim, D.S. Kim, *A note on nonlinear Changhee differential equations*, Russ. J. Math. Phys., **23** (2016), 88–92.
- [11] T. Kim, D. S. Kim, L. C. Jang, H.I. Kwon, *Differential equations associated with Mittag-Leffler polynomials*, Glob. J. Pure and Appl., **12**(2016), no. 4, 2839–2847.
- [12] T. Kim, D. S. Kim, J.J. Seo, *Differential equations associated with degenerate Bell polynomials*, Inter. J. Pure and Appl. Math., **108**(2016), no. 3, 551–559.
- [13] T. Kim, D. S. Kim, J.J. Seo, H.I. Kwon, *Differential equations associated with  $\lambda$ -Changhee polynomials*, J. Nonlinear Sci. Appl., **9**(2016), 3098–3111.
- [14] T. Kim, T. J.J. Seo, *Revisit nonlinear differential equations arising from the generating functions of degenerate Bernoulli numbers*, Adv. Stud. Com. Math., **26**(2016), no. 3, 401–406.
- [15] H.I. Kwon, T. Kim, T. J.J. Seo, *A note on Daehee numbers arising from differential equations*, Glob. J. Pure and Appl. Math., **12**(2016), no. 3, 2349–2354.